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November - December 2015
B. Com. Vth Semester Examination

ACCOUNTING GROUP

Income Tax Law and Practice

Time 3 Hours] [Max. Marks : Regular 85 / Private 100

AT

FUE A : TS Section A : Objective

1

-1

TR ¥, T aur ¥ aft Rl fafite o e % R afeef &) sd@w ww F RY
™ W ® aew wW | o ¥ W siw Rvom dee awes § i@ agee dei
e afm wdaféal ¥ o 60 fife sfafm wog & srgafy ¥

Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes
extra time,

Regular 15x1=15/Private 15x1=15

FT-frafor 7 2015-16 ¥ g s & Pt aift aRs s S P s g @m ¥

Exemption limit for the A Y. 2015-16 for a super senior citizen resident of India is :

(a) Rs. 2,50,000 (b) Rs. 2,40,000 (c) Rs. 3,00,000 (d) Rs. 5,00,000.

T s ¥

(s1) =< v (@) T g (&) stifers < g (=) =1 & =5 =& |
Agricultural Income is :

(a) Taxable (b) Exempted (¢) Partly Exempted (d) None of these.

e = & SR U FErarstt S ot At § il o mr

(sr) @ (=) &= (@) =T () of= |

On the basis of residence, the assessees are divided into how many categories :

(a) Two (b) Three (c) Four (d) Five.

T ORI FHIE F o 7 7 1,20,000 399 97 10,000 5. SRS wwr @l | 9 FARSH 0 6,000 &.
g fHy | 39 9w 16Gi) H HAT R

A government employee gets Rs. 1,20,000 as salary and Rs. 10,000 as entertainment allowance.
He spents Rs. 6,000 on enterntainment. He gets deduction under section 16(Gi) :

(a) Rs. 10,000 (b) Rs. 6,000 {c) Rs. 5,000 (d) I zero.

Farfag 2 oT wiE sifate s d e Tt g A &

Amount received from Recognised Provident Fund at the time of retirement is exempt :

(a) Rs. 3,00,000 (b) Rs. 5,00,000

(¢) Rs. 10,00,000 (d) a1 TR whole amount.

Frod o 33 gu W & Fmfor *g ol M #oor @@ sy o e w3 A fr

The maximum deduction of interest on loan taken for construction of house given on rent is :
(a) Rs. 1,50,000 (b} Rs. 1,00,000

() Rs. 30,000 (d) = & F& | No limit

frrfafs & & Si7-o1 =g =R § o s # wiee aE Y

(a1) sreinem =T (=) fashr ¢ (@) smasT () S FT |

Out of the following, which expense is not an admissible expense .

(a) Bad Debts (b) Sales Tax (c) Income Tax 1d) Excise Duty.

uw AT & SFre gt o oT Preafofe e & 1 e

The Income tax rate on long term capital gains for an individual is :
(a) 10% (b) 20% (e) 15% (d) 30%.
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2 o DS-563
0. Yy fa o ¥ arerta T i 2 €
(a1) ¥ (@) o el § s (F) o A (=) T & #5 a9 |
Under which head the pension is taxable :
(a) Salaries (b) Income from Other Sources
(e} Capital Gains {d) None of these.
10. e ¥ =mare # @iy # gff & @t ¥ @ Losses of speculation business can be set-off:
(a) 4 years (b) 8 years (c) 3 years (d) 6 years.
11, #¢ Frefcr ¥ 2015-16 3 Ry a7 80C ¥ =i sifrmaw FIdT 1 TRT S -
For the A. Y. 2015-16 the maxinmm permissible deduction w/s 80C is :
(a) Rs. 79,000 (b) Rs. 1,12,000 (c) Rs. 1,50,000 (d) Rs. 80,000
12. s ¥ Rafter = =7 drr Feamr € '
(s1) gt &1 ST (@) g« o (=) #T dv I (2) awmaiE s | =
Sum of various heads of income is called : =
(a) Gross Total Income (b) Total Income (c) Taxable Income (d) Adjusted Income. g-
13. gafaw fvfy wT feir 37 9@ § @ Section of Best Judgement Assessment is )
(a) 143 (b) 144 (c) 147 ) 148. p
14. @Iz, AR a7 ITET F Y 0T FL H FeNG AT g
The rate of TDS on rental payments of Plant, Machinery or Equipment is : =
(a) 1% (b) 2% (c) 5% (d) 10%. Eg
15. ST H< S S aiaT & o 3 TR A AT ¥ - &
(a1) 5,000 %. (8) 10,000 T a1 s (¥) 15,000 & a1 s (%) 20,000 &. ar ifew | §
Liability to advance tax arises when tax payable is :
(a) Rs. 5,000 (b) Rs. 10,000 or more (c) Rs. 15,000 or more (d) Hs. 20,000 or more.
gUT ¥ ; WY SAUd Section B : Short Answer Regular 5x4=20/Private 5x5=25
1. W o & F WA ® 7 What is Agricultural Income ?
Fgar OR
ST R ¥y % St o e S e A S R I @ e ¥ 7
What are the two conditions to become a resident of an individual under the provisions of
Income Tax Act ? .
9. Wi W9 %0€ T ¥ ? What is Recognised Provident Fund ? 2
4ar OR é
Frer el # Wi & i Hed A T H 2
FrfaE BT 1,00,000 &, THA fHad ) Rar 10,000 & siwTe ®
T iR X wRIRY H F S fhar 9,000 T (T Tt 7R F 10%) S
e aEl W () OF A (@) 96 T =
Determine the annual value of the house in the following cases : =
Expected Rent Rs. 1,00,000, House letout Rs. 10,000 p.m. o
House tax paid by owner Rs. 9,000 (10% municipal value) 3
House remains vacant for (a) 1 month (b) 3 months. =
3. e araht ded v av-aty @[ stEma el F g smela af 10,000 ®. , e sty i 15,000
T, AT 22,000 &, AT FEaTE @ &7 15,000 7, @ ¥ frare aTer §m W AL grfersht < 1,400
% #1921 ¥ 9% 1,00,000 € %1 & a0 w2 @ ¢ | I =TT A S Y A AT T Fg |
Profit and Loss Account of M/s Balaji Traders shows a profit of Rs. 1,00,000 after deducting
the amount withdrawn for personal expenses Rs. 10,000, life insurance premium Rs. 15,000,
income tax Rs. 22,000, expenses relating to income tax proceeding Rs. 15,000 and municipal
tax relating to the self occupied property Rs. 1,400. Compute his taxable income under the
head Profit from Business.
rger OR
ST T S O o §9erse | Discuss short term and long term capital gains.
4. o defrerer ity A qfe a3 wm AT THAT 37 Can capital loss be set-off against business income?

a7t OR
sraaes §=% o R o F anfher & S ¥ 7

With whose income the income of a minor child is clubbed ?
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wataw o sc-fufor & 93msy | Define Best Judgement Assessment.

ImaFT & i e T feaqet fafew | Write a short note on Advance Payment of Tax.
Regular 5x10=50/Private 5x12=60
a Fr g fR | gwa F g qur 9 o { ST 93y |

Define the term Income. Distinguish between Gross Total Income and Total Income.
44t OR

feT gaATSlt & SmaTL 0T FN ST i TOET ST

qy
(1) S #af F fag 9fit 37 w @ Hoar 48,000
@) Y Iae # et (afi & @l # ) 30,000
(3) TF W ¥ AR ¥ w7 ¥ W 359, B 919 P F F S ¥ 36,000
(@) FY 9 o Y FT F T 6,000
(5) faoweh, =, = vd €@q = W=y 10,000
(6) =t #1 @l 1,000
(7) T @ oy (R FEf & Ra) 2,500
From the following informations compute agricultural income :

Rs.
(1) Lease rent received from lands given to tenants for agricultural operations 48,000
(2) Sale of agricultural produce (Landlord’s share) 30,000
(3) Salary received as a partner from a tea manufacturing firm 36,000
(4) Payment of government tax on agricultural lands 6,000
(5) Expenses on power, irrigation, cess and farms labour 10,000
(6) Purchase of seeds 1,000
(7) Tractor hire charges (for agricultural operations) 2,500

AT Ty F o F I et & quiT Ay B ot S AE dmar ¥ |

State the items of income from house property which are not liable to tax.
rgar OR

F¢ Prafoor af 2015-16 § Freafafed gear & X 47 307 s § F< drg sy it o i

On the basis of the following information compute the taxable income of X under the head
Salaries for the assessment year 2015-16 :

w4 Rs.
A 99 Basic Salary 12,000 P. M.
TETs War Dearness Allowance 12,000 P. M.
AASH woT Entertainment Allowance 300 P. ML
qe19 #4419 @iy wwr Hill Area Compensatory Allowance 450 P. ML
f@er &= 9= Tribal Area Allowance 350 P. M.
i g w2 ¥ =9 71 Siwem .
His own contribution towards Statutory Provident Fund 1,000 P. M.
frarEar &1 siwe™ Employer’s Contribution 1,000 P. M.
ma fear AT House Rent Allowance 4,000 P. M.
Hifgsee %98 § STAT &= Interest credited to Provident Fund 6,500

ot X FOT T2 TR ¥ a7 Rt & aferd ¥ | 3 agg aw & 1100 e S w A H ¥ |
F 5,000 & wfewTe T foar gee ¥ |

Mr. X is officer in forest department of Uttar Pradesh Government. He is employed 1100
meter above the sea level He pays House Rent Rs. 5,000 P. M.

AR &7 37T 0T A B I H A, 1961 F Siwa srea: ®iga Soifad H aHArey |
Explain clearly the deductions that are expressly allowed in computing the income from business
under the Indian Income Tax Act, 1961.

3rqar OR
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F< frafeor € 2015-16 F R et A oo feaft aem i e F e A e e e s € |
frafor af 2015-16 ¥ e § ar it AT ARG T For sma § wfder &

L0
1981-82 ¥ ©ler a9 2,50,000
TerET 2014 # €9 B 38,00,000
fya=t 2014 ® s st Readt 7w gi=T 6,00,000

A 2015 ¥ a0 54EC & Avila WIEd UTHd U ArT sifgesor & divgw & i B 5,00,000
Wmiﬂm 1981-82 ¥ 100 ar aur 2014-15 ¥ 78 1024 =1 |

Mr. A provides following data regarding his transactions for the sale of his residential house
for assessment year 2015-16. Compute the amount of capital gains to be included in the Total
Income for the assessment year 2015-16 :

Rs. .
House purchased in 1981-82 2,50,000
Sold in November 2014 38,00,000
Purchased another residential house in September 2014 6,00,000
Invested in Bonds of NHA of India u/s 54EC in January 2015 5,00,000

The cost inflation index in 1981-82 was 100 and in 2014-15 it was 1024.
4, fom gEsht & F< Pafor af 2015-16 & g oF i@y &t 3o sma it T S -

(1) &=, oifaRve w2 § SiTEE a9r A9 T 9 F I9Er 2,47,000 ®.
() 3T IT FE T ST T 3,000 &
(3) wiftig uifdewe o & SivErE 20,000 &.
(£) wifRve v § @ifes &7 st 20,000 .
(3) wifadve 92 § 9.5% & 3 & <t fwar T &7 6,200 &.

(3) G T & gg armw o G 8,950 .
(T) @= 3% @ s 3,000 &
(@) e dar fiftrer oo B S 2,000 %.

From the following informations compute the total income of an individual for the assessment
year 2015-16 :

(a) Salary after deduction of Provident Fund Contribution and Income Tax  Rs. 2,47,000

(b) Income tax deducted on salary Rs. 3,000
(¢) His contribution to Recognised Provident Fund ) Rs. 20,000
(d) Employer’s contribution to Provident Fund Rs. 20,000
(e} Interest credited to Provident Fund Rs. 6,200, 9.5%

(f) Net Dividends received from domestic company Rs. 8,950
(g) Interest on Savings Bank A/c Rs. 3,000
(h) Life Insurance Premium paid Rs. 2,000

gar OR

T T AT T FA H @A B I gl SreEEl B §EEEy |

Explain the proivisions regarding set-off the losses while computing the Total Income.

5. G & fuier & a9 g7 aaed € 7 e T aiRidufear f Ry s @ 7
What do you understand by Reassessment ? In what circumstances is it done ?
FaaT OR
o FHArd C Fr i o 2015-16 § A ww &
77 60,000 %, wfwTe a9r &9 85,000 T, TR NifqSve wUE F Iuwr 9= 62,000 . T 947 3|7 12,000
. &qq S o Sire e fiftaw gEer § | 9 yfe e sae we 1971 # 1,000 & g
SEH YT & o o op i fre oK ST o A wAE A IR aun wed Al s
i oft 719 FT |
An employee ‘C’ would receive the following during the Financial Year 2015-16 :
Salary Rs. 60,000 P. M. and Bonus Rs. 85.000. His annual contribution to Recognised Provident

Fund Rs. 62,000 and he has paid Life Insurance Premium of Rs. 12,000 on his own life. He
has participated in the Unit Linked Income Plan, 1971 and pays Rs. 1,000 towards that.

Compute his Income from Salary liable to deduction of tax at source and the amount of

tax to be deducted.
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